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Maths calculation Policy

This policy supports the Hamilton Trust maths scheme used throughout the school.

Progression within each area of calculation is in line with the programme of study in the 2014
National Curriculum.

This calculation policy should be used to support children to develop a deep understanding of
number and calculation. This policy has been designed to teach children through the use of
concrete, pictorial and abstract representations.

By having a clear and consistent curriculum strategy throughout the school, teachers can
ensure that children are hearing consistent language and using progressive methods that build
from one year to the next. This policy shows the written calculation methods together with
suggested Concrete, Pictorial & Abstract methods (CPA).

Concrete — a pupil is first introduced to an idea or skill by acting it out with real objects. This is a
‘hands on’ component using real objects and is a foundation for conceptual understanding.

Pictorial — a pupil can now relate the concrete to representations, such as a diagram or picture
of the problem.

Abstract —a pupil is now capable of representing problems by using mathematical notation,
for example 12 x 2 = 24.



Written Calculation methods Years 1-6

@
H a m I If@n Addition and subtraction are inverse operations. Right from the start children should be
taught these as reloted operations. There are four number sentences (two wsing + and

two wsing -] which can be writhen to express the relationship between 4 and & and 10.
It is key to a good understanding of addition and subtraction that & + []= 10 and
10 - & = [] are seen as ways of expressing the same question.

Using place valus iing place valus -
-_ Count on in ones/counting in tens, &g knowing 45 + 1 or 45 + 10 Count back in 1s/Count back in 10s. 11213 als
without Counting on in ones. Say one less than any number +o 100. +
Say 10 less without counting back in ones. Mj12|13 |14 |15
-l- (= = > 2|22 24|25 -
- } I 1 ! 1 ¥ } ¥ 1 . ¥ Bead strings and 1-100 33 - 10 = 23
-'f.t;j é’) @ @ @ é‘) @ @ @ @' @ number grid help counting 31|32 34 355
n tens. 1]42|43 45 t +
45+ =50 65 + =70 41|42 |43 | 44 —
-l' :l :l Subtracting by raking away T =
= 8BS + |:|=9u Count back in ones, +

Ik

|
+ Counting on eg. T‘-'
Count oninones, egq 17 +2= and 7+ 4=
— Count on in tens, eqg 45 + 200 as 45, 55. 45

]
g
T

Story of 4,.5,6, 7. 8and . eg =7 +0ord+ Jor5+2ord+ 3

|
_l_ Using number facts
o Numberbondsto 10.eg 5+5.6+47+3.8+29+1 10+0

T

Using number facts
Story' of 4.5.6.7.8and 9, eg. 7-1=87-2=57-3=4 ofc
MNumber bonds to 10, eg 10-1=0 10-2=8 10-3=7 efc
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5+ ]=10 5+ =10 Patterns using known facts,
ag I00-7=3s50 weknow 30-7=?
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T

Patterns using known facts, eg. 4 + 3 =7 so we know 24 + 3, 44 + 3,

T

g




taught these as related operations. There are four number sentences (two using x and

ke 0 goo undrscndin o i 133~ . 43 - 3 resen WNNINZNZ\
PN N NN \s s | miskey to.a good understanding of division that [] x are seen s
WNZNELNL NI\ p 00 of expresing the same quesion INININIZ\I\.

> \I\f\f\f\f\f\l\(-\f\f\f\f\/\f\/\f\/\l‘
b Counting in steps ['Clever’ counting) Couting in steps ['Clever counting]
Count in 2s and 10s. Count in 25, and 10s.

. 4 b a 10 1 14 16 18 20

Fn::lluinfevmruﬂ:a'supm 12 including realising that i is hard +o
halve an odd number.
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Begin o use visval and concrete arrays and ‘sets of’ objects to find the |
answers to '3 lots of 4" or "2 lots of §', etc.

Bewﬂummﬂuﬂmfemuml'mhﬂf objects to find the

l

answers to how many fowers of 3 can | moke with 12 cubes?

Sharing

Begin to find half of o guantity using sharing, eq half of 16 cubes by
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Addition and subtraction are imverse operations. Right from the start children shouwld be
taught these as related operations. There are four number sentences (Hwo using + and

Yea2

two using -] which can be written to express the relationship between 4 and & and 10.

It is key to a good understanding of addition and subtraction that & + []= 10 and
10 - & = [] are seen as ways of expressing the same gquestion.

(+ Addition ]

f- Subfrucﬂun]

-

Ling place valus
Know 1 more or 10 more than any number, eqg. 1 more than &7 or 10

Uiing place valus
Know 1 less or 10 less than any number, eqg. 1 less than 74 or 10 less than 82,

Partitioning, eg. 55 - 32 as 50 - 30 - - ‘= 20

more than 85,

Partitioning, eg. 55 + 37
as 530 + 30and 5 + 7

Beod strings and 1-100
number grid halp counting

answers: 20 + 3.

and 5 - 2 combining the
A R -

finally combining the two =12 3

totals: B0 + 12. -'+ ‘ on/back in tens. 55-32=23
80+ 12=92

Counting on : .

Add ten and mupliples of ten, eqg. 76 + 20 as 76, 86, 96 or in one hop
76 + 200 Add two 2-digit numibers by counting on in tens and then in ones,
eg 55 + 37 as 55 add 30 [85) add 7 [92].

+10

60 70

Add near multiples, eg. 46 + 1% or &3 + 21

Using numbaer facts

Know pairs of numbers which make the numbers up o and including 10,
eq &= 484 &5 2&4, 1&7 and 10 = 5&5, 4845, 347, 2848 1&2 0& 10
Paotterns of known facts, ag d + 3 =9 50 we know 3d + 3= 39,

G+ 3=09 53 +d=59

76 80 90 96 10

0

Subtract ten and multiples of ten, eg 76 - 20 as 74, &4, 56 or in one hop
Fd - 20 = 54. Subtract two 2-digit numibers by counting back in tens then
in omes, eg. 67 - 33 as 67 subtract 30 [37] then count back 3 (34]

1 a0
— ok —F

XA

30 40 50 50 &7 70

34 3:?
Subtraocting near multiples, eq. 74 - 21 or 57 - 17

Vsing number facts

Know pairs of numbers which make the numbers up to and including 10,
eg I0-d=48-3=55-2=3 efc

Fotterns of known facts. eqg ¥ - d= 3. 5o we know 3% - d= 33, 09 - 6= 43,
89-6=83 -4 -2

Bridging ten, eq 57 + 5 as 57 add 3 then add 2 more.
+.2

|
gn gs ,g & 85 o

Missing number sentences.
3 +[] = 7. ink addition
and subdraction

Bridge ten. ag 52 - &

subtraoct 4 more ! | ! ::::'_‘cl

as 52 subfract 2 then
0 |
50 52

Adding three or more single-digit numibers, spoting bonds to 10 or doubles,

egd+F+d+2am 10+7+2

Lounting up
Find a difference between two numbers on a line, aq 57 - 47,

—



Mhuttiplication and division are inverse operations. Right from the start children should be W@@ﬁ) 2
taught these as related operations. There are four number sentences [fwo using x and

two wsing + which can be written to express the relotionship between 5 and % and 43.

| I is key to a good understanding of division that []x 5 = 45 and 45 = 5 =[] are seen as J
o ways of expresing the same quastion. y;

W,
(x Multiplication | + Division |
Counting In step: |['Clever counting] Counting In srep: [ Clever count

Count in 25, 55 unsd 10s. . . - Count in 2s. 35 and 10s @@@@@@@
5 5 3

fassebeseians, (S
ST fssskessigasss

o 3 1 13 0

multiplication and divison.
Begin to count im 35 o 3 1o 13
Doubling and halving Doubling and halving
Begin to know doubles of multiples of 5 +o 100, Find half of numbers up to 40, incleding realising that half of an odd number
eq double 355 70 gives a remainder of 1 or an answer containing a Yz
Grouping Begin o know half of multiples of 10 +o 100, eg. half of 7005 35.

Use arrays to find answers to multiplication
and relate o ‘clever’ counting.

ag 3 x 4 as three lots of four things

and & x 5 as six steps in the 55 count

Grouping
Relate division to multiplication by using arrays of fowers of cubes to find
anwers to division, e.q. how many fowers of five cubes can [ make from 20

as well as six lots of five. c:besmﬂx.’j:;_'ﬂmmdm&mzﬂeﬁ:?

: 10 = 20 : (1 [

m Relate division to ‘clever’ counting and hence to multipication, eq. how

¢ & = many 5s do | count to get o 207
Understand that 5 x 3 con be worked out as three 5s or five 3s

un
L
(=]

Sharing

Use number focts . in 10 find half sarter of st using shari % of 16 cubes

inow doubl oubl Division, grouping, is the Begn to oraq a quantity wsing sharing, eg. cu
d fo 20 inverse of multiplication. by sorting the subes into four piles.

Find Yz, Wz, ¥ of small quantities.

DPouble 7= |4 haff of 20 is.
-
Know halves of even numbers to 24. 20
Start learning 2x, 5x, 10k tables, relating these +o ‘Clever counting in 25, 55, Know 2x, 5% and 10x division facts. z [ z

and 105, egq 5 x 10= 50, and 10, 20, 30, 40. 50 i five steps in the tens count Begin +o know 3x division facts.
-




Addition and subtraction are inverse operations. Right from the start children showld be Y@@U) 3

tawght these as reloted operations. There are four number sentences [two using + and

two wsing -] which can be written +0 express the relationship between 4 and & and 10.
It is key to a good understanding of addition and subtraction that & + [] = 10 and
10 - & = [] are seen as ways of expressing the same guestion.

ra
+ Addition ] f— Subi-ruchun]
-

Usng place valus Taking away
Count in hundreds, e.q. knowing 475 + 200 as 475, 575, 675. Use place value to subtract, eg. 358 — 300 or 348 — 40 or 345 - 8.

Taking oway muttiples of 10, 100 and £1. eq. 476 - 40 = 434,
Add multiples of 10, 100 and £1, - ~ 476 -300=176,E476-£2=E270
eg 746 + 200 or 746 + 40 or Subtraction is both taking Partitioning, eg &8 — 42 as 60 - 40 and 8 — 2 or
£634 + £5 a5 £6 + £9 and 34p. away and - importanty - £4684 - £240 05 £46 - £2 and 80p - 40p.

difference. Count back in hundrads, tens and then ones,

Partitioning. 9. &8 + 74 as &0 + 70 and & + 4 and 4 eg 763 — 121 as 763 — 100 [663) then subtract 20 [643]
combine the totals: 130 + 12 = 142 then subtract 1 [642).
Ore850 4+ E3700s£8 + £3 and 50p + 70p and combine: £171 + £1.20. Subtract near multiples, eg 648 — 199 or 66 - 39

86 -39
Counting on #1 .
Add 2-digit numbers by adding the multiple of ten then the ones, —| ‘I" e
eq 67 + 55 as 67 add 50 (117) add 5 (122). 46 47 86
Add near multiples of 10 and 100, eg. 67 + 3% or 364 + 199

Counting up

Find a difference between two numbers by counting up from the smaller
225 +49 +50 i} to the larger, g 121 — 87.

235 274 275 R

Count on from 3-digit nos, e.g. 247 + 34 as 247 + 30 (277) g7 90 100 121
then 277 + 4 = 281

Using number facts
Using number focts Mumber bonds to 100, eqg 100 - 35 = 65, 100 - 48 = 52, etc.

™y
Mumnber bonds to 100, eg. 35 + &5, 46 + 54, 73 + 27, etc. We no longer count in 15 but
100 use PV and numiper focts. ) 100
65 | 35 a8 ?

Add to next ten and next hundred, ag 176 + 4 = 180, 435 + 65 = 500, etc.




Muttiplication and division are inverse operations. Right from the start children should be W@@H’ 3
tought these os related operations. There are four number sentences (two wsing x and

twio wiing = which can be written to express the relotionship betwean 5 and % and 45.

| lris key to a good understanding of division that []x 5 = 45 and 45 = 5 =[] are seen as I
ways of expressing the same guastion. ¥,

5
(x Multiplication ) [+ Division |
' T o !
Counting in steps ['Clever counting) Counting In steps ["Clever count
Courvt in 25, 35, 45, 55, 85 and 105, e.q. colouwr the multiples on a 1-100 grid Count in 25, 35, 45, 35, 95 and 105 by colouring numbers on the 1-100 grid
or use hops along o londmarked line. of using a landmarked line.
4 4 4 4 4 4 4 4 4 4
| [l [l | 1 | | [l 1 | | [l Il | [l | | [l [l | | [l [l | | | | [l 1 [l 1 [l [l | 1 [l | [l
I T T T T I T T T T I T T T T I T T T T I I T T T T I T T T T I T T T T I T T T T I
0 5 10 15 20 0 5 10 15 20
Doubling and halving Doubling and halving
Find doubles to double 50 using partitioning. Find half of even numbers o 100 wsing partitioning.
Use doubling as a strategy in multiplying by 2, ke halving os o strategy in dividing by 2,
eg 18 x 2 is double 18 (358). A8 eq 36 = 2 s half of 346 14
Py Doubling and halving form the P
807+ “l6=96 basis of mental x & = strategies. 157+ 73 =18
p— Grouping
Recognise that multiplication i mutative eg. 4 x8=8x 4
° o plic T 18 comr £ 4x _I Recognise that division is not commutative, eg. 16 - 8 does not equal 8 = 16
Multiply multiples of 10 by single-digit numbers, e.g 30 x & = 240. . . Lo ; -
Muttiply friendly 2-cligit numbers by single—digit numt eg 13x4. Relate division to multiplicotions ‘with holes W, eg. [ | x5 =30 the
same calculation as 30 = 5 = 7 thus we can count inin 55 to find the answer.
Divide multiples of 10 by single-digit numbers, eq. 240 = & = 30.
iing number facts
Know doubles to 20 and doubles of multiples of 5 b b oo
10 100, eg. double 45 is 90. Know halves of even numbers to 40.
Know doubles of multiples of 5 +o 100, eg double 85 is 170
Know 2x. 3x, 4x. 5%, 81, 10x +ables focts. Number facts must 28
- lbe mermnorised and ? | B
[x Written Multiplication ] e i
- Know halves of multiples of 10 to 200, eq. half of 170 is 83
Bulld on partitioning to develop grid multiplhcation. x | 20 = Emow 2w, 3x, 4x, 5%, 8x 10x division facts.
Use divison focts o find unit and simple non-unit fractions of amounts
4 | 80|12 92 within the fimes tables. eq % of 48 s 3 x (48 = 4).
Y L.




Addition and subtraction are inverse operations. Right from the start children showld be Y@@Uj é:L
taught these as reloted operations. There are four number sentences (two wsing + and

two wsing -) which can be written to express the relationship between 4 and & and 10.
It is key to a good understanding of addition and subtraction that & + []= 10 and
10 - & =[] are seen as ways of expressing the same question.

-~ B
[+ Addition W - Subtraction
- =
Ling place valus Taking away
Count in thousands, g knowing 475 + 200 as 475, 575, 675. Use place value to subiract, eq 4748 - 4000 or 4748 - 8, efc.
Partitioning. eq. 74d + 203 as 700 + 200 and 46 + 3
or 134+ 707 s 130+ 700 and 4 + 7. Take away multiples of 10, 100, 1000, £1, 10p or 0.1, eq. 8392 - 50 or

PV and number facts are G723 - 3000 or £3.74 - 30p or 5.6 - 0.2
central to mental strategies.

Fartioning, exg £5.87 - £3.04 as £5 - £3 and 7p - dp or 7493 - 2020 as

7000 - 2000 and 20 - 20.
Counting on
Add 2-digit numbers by adding the multiple of ten then Count back, eqg. 6482 - 1301 as 6482 - 1000, then - 300, then -1 [5181].
the ones, eqg. 67 + 55 as 67 add 50 (117] add 5 [122]. Subtract near multiples, e.g. 3522 - 1999 or £34.86 - £19.99.
Add near multiples of 10, 100 and 1000, 2.g. 467 + 199 or 3462 + 2999,
Counting up
200 Find a difference between two numbers by counting up from the smaller
e | to the larger, eg 506 - 387
- —= 3 10 100 &
447 &o6 66T - - T ——— P
T T .I - - T T
Count on to add 3-digit numbers and money, eqg. 463 + 124 as g7 390 400 500 506
463 + 100 [563) + 20 (583) + 4 = 587 or £4.67 + £5.30 as £9.67 add 30p. 100+ 10+643 119
Using numbaer facts Using number facts
Mumnber bonds o 100 and to next muitiple of 100, Mumber bonds +o 10, 100 and derived facts,
eqg 463 + 37, 1353 + 47. eq 100-76=24 10-046=04
™
Mumber bonds to £1 and to the next whaole pound, Counting up is essential 100
eq £345+ 55p for money calculations 76 24
Add to the next wholke number, eg 4.6 + 04 or 7.2 + 0.8, and, later, decimals. J

Mumber bonds 40 £1 and £10,
eq £1.00-84p = 1dp or £10 - £3.40 = £6.60.




Addition and subtraction are inverse operations. Right from the start children should be Y@@[]j @
taught these as related operations. There are four number sentences (two using + and

It is key to a good understanding of addition and subtraction that & + []= 10 and

10 - & =[] are seen as ways of expressing the same question.

wau using -] which can be writhen to express the relationship between 4 and & and 10.

)

-,

r+ Written Addition

]

- Written Subtraction

Build on expanded column addition to develop compact colurmn addition Expanded column subtraction. Begin to use column subtraction.
with larger numbers.
600 110 16 & 11 16
1000 400 &0 8 P 7z
- 300 50 & -3 5 8
Expanded methods firm
+ 4000 800 &0 & up a robust understanding 00 60 8 i 6 8
1000 100 10 of ploce vakse
G000 300 30 4 :

Compact column addition with larger numibers.

Use expanded and compact colurmn addition +0 aodd amowunts of money,
eg £3.24 + L2558

5347 40p £6 £20
2286
+ 14925 J 'i" - 3
121 £73.60 £74 £80 £100
9128
£20 + £56 + A0p = £26 40

Use counting up subtraction to find change from £10, £20, £50 and £100,
g £100 - £73.60.

Subtract like fractions, eq. & - ¥e = 34.

£3 20p 4p £3.24
£2 50p 8 + €258
£5 70p 12p £5.82 _ 1 Stress that decimals h
£582 and fractions are parts of
a whiola. J

Add like fractions. eg. 3& + Y& + J&.




Muttiplication and division are inverse operations. Right from the start children should be W@@[}J é\l
taught these as related operations. There are four number sentences (+wo wsing x and

twio wsing = which can be written to express the relationship betwean 5 and 2 and 43,
It is key to a good understanding of division that []x 5 = 45 and 45 = 5 =[] are seen as
ways of expressing the same question.

(x Multiplication | [+ Division |

F "-

Counting In steps (s L 1] Counting In steps UL Tl H
Counrt in 25, 35, 4s, 35, Os, 75, 85, 95, 105, 115, 125, 255, 50s, 1005 and 1000s. Count in 25, 35, 45, 55, &s, 7s, 88, P45, 105, 115, 125, 255, 50s, 100s and 1000s.

Doubling and halving

Find doublies o double 100 and beyond using partitioning. Heeslpnzcd balins ) o
eg double 226. Find halves of even numbers to 200 and beyond wsing partitioning.

Facility in doubling and 344
halving is key for mendal
¥ and = strateqgies.

172 | 172

400 + 40 + 12 =452

Begin to half amounts of rmoney, e.g £9 halved is £4.50.

Begin to double amounts of m . :.:;Ihmc:uimﬁgrndﬁdngmldmﬂ.egmdéduhﬂlFufIM
eg £3.50 doubled s £7. gan itk

Use doubling as a strategy in multiplying by 2, 4 and 8,

Groupin
eg 34x 4= double 34 [68) doubled again (136). o

Lse multiples of 10 times the divisor to divide by numbers <% above the
Grou tables facts. eg 43 - 3.

Use partitioning to multiply 2-digit numbers by single-digit numbers. 10x3 5x3

Multiply multiples of 100 by single-digit numbers using tables facts, —— — e

eq 400 x 8 = 3200. , - .

" - - _ T I I
Muhiply using near multiples by rounding. eg. 24 x 19 as [24 x 20) - 24. 0 €30 €45

Stress that division is | Divide multiples of 100 by single-digit numbers using division facts,
multiplication with eg 3200+ 8 = 4000.
‘holes’ I

Know times tables up to 12x 12

Using numbaer facts

Know tirnes +ables up +0 12 % 12 and all reloted division facts.

Use division focts +o find unit and non-unit fractions of amounds within the
times tables, eq % of 56is 7 x (56 = 8).




\J
Muttiplication and division are inverse operations. Right from the start children should be \_(@@GJ (4 L
tought these os related operations. There are four number sertences [two using x and

two using = which can be written o express the relotionship between 5 and 9 and 43.
It is key to a good understanding of division that []x 5 = 45 and 45 = 5 = [] are seen as
ways of expressing the same question.

f’x Written Multiplication ] f+ Written Division ]
Use grid multiplication to multipy 3-digit by 1-digit numbers. Written version of a mental method
x | 200|350 | 3 1518 _
6 |1200[300 | 18 ;:;“E“m“ﬂ'“:g‘m'““ []x 3=86 86:3=28r2
develop fluency. 20 x 3=060
26
Use a vertical writren algorithm (ladder] +o multiply 3-digit Bx3=24
nurnbers by 1-digit numbers. —2
253
X &
1200
300
18
1518




Addition and subtraction are inverse operations. Right from the start children should be
taught these as related operations. There are four number sentences [fwo wsing + and

(+ Addition 1

It is key to a good understanding of addition and subtraction that & + [] = 10 and
10 - & =[] are seen as ways of expressing the same guestion.

L-|-1.|v.n|:|| using -] which can be written to express the relationship between 4 and & and 10.

Year'S

)

(- Subtraction |

e

-
Uing place valus Taking away
Count in 0.15. 0.01s, eg. knowing what 0.1 more than 0.51 is. Using place value to subtract decimalk, e.g 4.58 - 0.08 or 6.26 - 0.2, efc.
Take away multiples of powers of 10, eqg. 15, 672 - 3000r 482 - 2 or
Fartitioning, eg. 24 + 5.8 a5 2 + 5 and 271 -05or 4468 - 0.02
0.4 + 0.8 and combine the totals: 7 + 1.2=8.2 | Subtrocting by counting | Partition or count back. eg. 3964 - 1051 or 5.72 - 201.
up it much less error prome. Subtroct near lTh."I'I]HH E.g. Bﬁ,dﬁﬁ — Q990 or 358 - 199
24+ 5.8
— Counting up
L * Tl12=82 Find a difference between two numbers by counting up from the smaller
to the larger, ag. 2009 - 8469
Lounting on . , 31 100 1000 9
Add two decimal numbers by adding the ones then the tenths’hundredths, o e —— -
eq 572 +3.05 a5 5.72 add 3 (6.72] then add 0.05 (8.77]. f . —~— —= i
Add near multiples of 1.eg 6.34 + 099 or 5.63 + 0.9. 869 900 1000 2000 2009
1000 + 100 +31+9-1140
_# - 01 Find change using shopkeepers’ addition, e.g. buy toy for £6.89 wsing £10.
S = Tp _£3
5.63 653 663 s .
— T 1 —
Count on from large numbers, eg. 6834 + 3005 as 9834 + 5. £68% £7 B0 s 1p=g311
Vsing number facts
Yiing number fact: Derived facts from number bonds to 10 and 100, eg. 2 - 0.45 wing
Murnber bonds to 1 and to the next whole number, exg. 0.4 + 0.6 45 + 55 =or 100 or 3.00 - 0.86 using 856 + 14 = 100.
or 5.7 + 03
Add o the next ten from a decimal number, e 100
eg 78+22=10 bonds underpins mental 86 14
0.2 2 stratgagios. )
. T —= Number bonds to £1. £10 and £100, e.g £4.00 - £3.86p = 14p or
78 &0 10 2102=22 £100 - £66 wing 66 + 34 = £100.




(Addﬂm and subtraction are inverse operations. Right from the start children showld b-ew ; ; @@[]3 5

taught these as related operations. There are four number sentences [two wsing + and

two using -] which can be writhen +o express the relationship between 4 and & and 10. J

10 - & =[] are seen as ways of expressing the same question.

Lli is key t0 a good understanding of addition and subtraction that & + []= 10 and

['- Written Subtraction ]

[+ Written Addition |

Continue to wse column addition to add towers of several larger numbers.

-\

Expanded colurmnn additicn for money laading +o0 compact column Compact column subtraction for numbers with up to 5 digits,
addition for adding several amounts of money. eg. 16324 - 8514

£14 &0p 4p 01513 1 14

£28 70p Bp Expanded version first -¥ & ¥ Z 4
+ £12 20p o&p embeds understanding of 8 5 1 o6

€1 10p place value. 7 8 0 8

£55 60p 8p £55.68 Continue to use counting up subtraction for subtroctions involving money,

including finding change or, eg. £50 - £28.746.

Compact column addition +o add pairs of 5-digit numibers.

24p £21 E21+24p=£21.24

Use compact addition +o add decirmal
numbers with up to two places. £28.76 £29 £50
Use counting up subtraction to subtract decimal nurmbwers,
eq. 42— 1.74.
15.68 0.26 2 0.2
+ 27.86 N
11.1 i t— ! i
4354 174 2 4 42
™, 2+026+02=246
. ) . Equivalent fractions are
Adding chi::ms with related denominators, the basis for + and - Subtracting fractions with reloted denominators,
eg M+ % =34 fractions. ) egl%-% as 1%-% or W-%=%h

il J




Muttiplication and division are inverse operations. Right from the start children should be W@@E 5
tought these as reloted operations. There are four number sertences [two wsing x and

two wsing + which can be written to express the relationship between 5 and % and 43.

It is key +o a good understanding of division that []x 5 = 45 and 45 = 5 =[] are seen as
ways of expressing the same guastion.

(x Multiplication ) [+ Division |

" - ™
Doubling and halving Doubling and halvin:
Dlouble amounts of money using partitioning, Halve amounts of money wiing partitioning, .g. half of £14.84 as half of
egq £6.73 doubled is double £6 [£12) plus £14 and half of 84p.
Use doubling and halving as a strategy in multiplying by 2. 4, 8.5 and 20,
edq. 585 =% of 58 (29 x 10 [290). P'l:l"l‘i'li[l‘i‘lg remains a key
E6T3 skill throughout. E7 + 42p=5742
ke doubling and halving os a strategy in dividing by 2. 4, 8, 5 and 20,
£12 + £146=£1346 eg 115 = 5 as double 115 (230) = 10.
Grouping
Multiply decimals by 10, 100, 1000, | | | | Grouping
eq 3.4 x 100 =340 100s | 10s | 1s |- | O.1s Divide numbers by 10, 100, 1000 +o obtain decimal answers with up o

three ploces, eq. 340 - 100 = 3.4.

ke the 10h, 20th. 30th ... muttiple of the divisor to divide friendly 2-digit
and 3-digit numibers by single-digit nurnbers,

eg 186 -6as30x 6 (180) and 1 x & (&)

Use partitioning +o multiply friendly 2-digit and 3-digit numibers by Find unit and non-unit fractions of large amounts, eg 35 of 265 &
single-digit numbers, e.g 402 x 6 as 400 x & (2400) and 2 x 6 (12). 3 x (265 = 5]

Use partitioning to multiply decimal numbers by
single-digit numbers, eg 45 x 3 (4 x 3] + [4 x 0.5). Learning times tables

Multiply using near multiples by rounding. mwvolves BOTH multiplication | . vicion facts from the fimes +ables up o 12 x 12 fo divide mutiples
eg 32x29as(32x30)- 32 e of powers of ten of the divisor, ag. 3600 + 9 using 36 = 9.

Using number focts
Use times tables focts up to0 12 ¥ 12 o muttiply multiples of the multiplier,

egdxd=24s50 4x6=240 and 400 x & = 2400.
Know square numbers and cube numibers.

L . o




twio wsing = which can be written to express the relationship betwean 5 and % and 43.
It is key to a good understanding of division that []x 5 = 45 and 45 < 5 =[] are seen as
ways of expressing the same quastion.

Muttiplication and division are inverse operations. Right from the start children should be W@@[}J 5
taught these as reloted operations. There are four number sentences (fwo wsing x and

fx Written Mul-l-iplicni-iun] r+ Written Division 1
4 ' )
Short multiplication of 2-digit, 3-digit and 4-digit numbers by Written version of a mental strategy for 3-digit = 1-digit numibers.
1-digit numbers.
387 [Jx6=326 326+ 6=54r2
x 6 The closer division is linked +0 5016:%
54 multiplication better.
2322 dxb=_24
2
Long rultiplication of 2-digit, 3-digit and 4-digit numbers by +een nurnbers. 5dr 2

MB: Grid multiplication provide: a default method for ALL children.

Multiplying fractions by single-digit numbers, e.g. 3 x & = "3 which is
d3%=4%

g7 Short divison of 3-diigit and 4-digit numbers by single-digit numbers.
; ﬂ;; 1264
15 4% 6| 7581
11 Yisual maoges are essential
2418 to multiplying and dividing
fractions.

Grid multiplication of rumibers with up o 2

decimal places by single-digit numiers.

£8.65x7

| £8 | GH0p | Sp
x7 ‘ £56 ‘ £4.20 ‘ 35p £60.55

. >




L]
Ha m I l'l'on Addition and subtraction are inverse operations. Right from the start children should be
taught these as related operations. There are four number sentences (two wsing + and

two using -] which can be written to express the relationship between 4 and & and 10.
It is key t0 a good understanding of addition and subtraction that & + []= 10 and
10 - & =[] are seen as ways of expressing the same question.

ol

Using place valus
Count in 015, 0.07s, 000175, eqg. knowing what 0,007 more than §.725 is.

Use place value to subtract decimals, e.g 7.782 - 0.08 or 16.263 - 0.2, etc.
|_ Partitioning, eg. 9.54 + 3.25 as ¥ + 3 and Take away multiples of powers of 10, eg. 132956 - 400 or N
0.5+ 0.2 and 0.04 + 0.03 to get 127%. 686,109 - 40,000 or 7823 - 05
ubtracting by counti Fariticn of count back, eg 3964 - 1051 or 5.72 - 201.
l-h 105 1s || 015 Yes | 0015 Yoos [:nuchm:mrprm:fm] Subiract near mutiples, Eg.EM.D?B—W,WBm 12831 - 099
g || B 4
|- 3 || 2 5 | countingup oy
Count up o subtract numbers from multipkes of 10, 100, 1000, 10,000
I-h Find a ditference between two decimal numbers by counting up from the +
1 2 017 ? smaller to the larger, e.g. 1.2 - 0.87.
F 02+013=033 =
Counting on - 013 02 —
,-I- Add two decimal numbers by adding the ones then the tenths/hundredths | o~ T Iy +
«| or thousandths, eg 6314 + 3.006 as 6314 add 3 (9.3 14) then add + - — —|
F 0.006 (9.32). 0487 1 1.2 -
Add near multiples of 1, eq. 6345 + 0999 or 3.673 + 09 - -
'-h o o q- Using number facts +
R N Derived facts from number bonds to 10 and 100, eqg. 0.1 - 0.075
F L f“d using 75 + 25 = 100 or 3 - 045 wsing &5 + 35 = 100. -
T T T o —
'-h 5673 6573 6673 Mumiber bonds +o £1, £10 and £100, +
eg £7.00 - £437 or £100 - £656.20
F Count on from large numbers, eg. 16,375 + 12,003. Knowledge of number bonds ui?-l'lg 20p + B0p = £1 and £67 + £33 = £100. N
Using number facts underppins menta strategies.
I-h Murnber bonds +o 1 and to the next multiple of 1,
eg 063 +0.37 or 2355 + 0.645. £100
F Add +o next ten, eg. .62 + 0.38. 5

7
t
t
t
t
t
t
t
t
t
t
t
t
t
t



i Additi nd subtraction imvarse oparations. f the start children showld be
H@]mlnlﬁ.@ﬂ m@?ﬁhm%uﬁ%%umemﬂém[mﬂng+m

two using -] which can be writhen to express the relationship between 4 and 6 and 10.
It is key to a good understanding of addition and subtraction that & + []= 10 and
10 - & =[] are seen as ways of expressing the same question.

supparting teachers

Compact column addition for adding several Compact column subtraction for large numibers.
large numbers and decimals with up to
two ploces.

Compact colurnn addition with monay.

£14.64 £14  40p
£28.78 £28  T0p
£12.24 + £12  20p

11.1 £1 10p
£55.68 £55 o0p

Use counting up subtraction when dealing with money,
eq £100 - £78.56 or £45.23 - £27.57.

£21

44p

!
£7856 £79

Adding fractions with unlike denominators,
eg M+ WMol Ve o 2MWM4+1¥W=17%; Use counting up subtraction to subtract decimal numnbers,
eg. 13.1- 237
a+ 4

063 10 0.
=% + ¥z

= % r..-"'f-\\r_._____.-—-"____ o __'---__q_h-x I//--\\I
3

-1 % 237 13131
10+0463+01=1073

Subtracting fractions with unlike denominators,

eg 14 -%

=%-%

="%2- Y

=%




Multiplication and division are inverse operations. Right from the start children should be
taught these as related operations. There are four number sertences [two wsing x and

Hamilton

two wsing = which can be written to express the relotionship between 5 and 9 and 43.
It is key o a good understanding of division that []x 5 = 45 and 45 < 5 =[] are seen as

\I\f\l\l\l\l
f\l\l\l\l\l\

ways of expressing the same guastion.

NINIZNAINININ/\/\/

f

Doubling and halving
Diouble decimal numbers with up to 2-places wsing partitioning. eg. 36.73
doubled is double 36 (72) plus double 0.73 [1.46)

N\

IN/\F

Doubling and halving
Halve decimal numbers with up to 2-places using iti
Eg.l‘u:lfd'Sﬂﬂ-ﬁlfhdeFSﬁ“B]PhEh:lfﬂfﬂ.ﬂﬂm.-ﬂE'

36.73
Ll'm'ﬁu'uilghmrmpcrﬂrul

72+ 146=7346 mﬂfiﬂm‘ﬁ“m + 43 =1843
calculation strategies.

Use doubling and halving as strategies in

Use doubling and halving as strategies in mental division,

miental multiplication. I eq 216 = 4 is half of 216 (108) and half of 108 (54)
Grouping
Grouping | Lsa 104h, 204N, 304h, ... or 100+h, 200+h 3004h .. muHiples of the divisor

Use partioning as a in mental multiplicotion, os appropricte, eqg.
3060 A s (3000 x 4) + (60 xA)orBAx B as B x 8 (64)and 0.4 x & [3.2)
Use factors im mental multiplication,

eg 421 x 6 as 421 x 3 (1263) doubled (2526)

or 3.42x 5 as half of 3.42 x 10.

to divide large numbers, g 378 1 Fos 40xP=360and 2x ¥ =18
50, thie amswer is 42

ke test for divisibility, g 135 dividesby 305 1+ 3+ 5=Fand P isin
the 3x table.

2=378

Mutliply decimal nurnbers using near muktiples by rounding. |:| X
eg 43 x19as 43 x 20 (86 — 43). 1 40 x ?=SE
Division as grouping, 18

ie the inverse of multiplication,

i a key concept. 2x9=18
o

Uiing number facts 42

Use times tables facts up o 12 x 12 in mental
multiplication of large numbers or numbers with up to
two decimal places,

eqgdnd=24and 0.06x4=024

L:ing number facts
Lse division facts from the times +ables up +o 12 x 12 1o divide decimal

numbers by single-digit numbers, e.g 1.17 = 3 is Yoo of 117 = 3 [0.39).

\I\I\I\I\l
INININININ
NININININI\I\/
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T Multiplication and divisi inverse operations. F the start children should be
Hamll‘i’@n WMEMJMMGQFMme[mwngTW

----------- twao using = which can be written o express the relotionship between 5 and 7 and 45. —_—_—_— —_—— == =
It is key to a good understanding of division that [Jx 5 = 45 and 45 = 5 =[] are seen as

(NIAZNINAAA ways of expressing the same quastion

A YA YAYAYaAYAY4

' N N\
Short multiplication of 2-digit, 3875 Shart division of 3-digit and 4-digit numbers by single-digit numbers. /
3-cigit and 4-digit numbers x 6 \
by 1-digit numirers. 543 Short versions of multiplication 1264 /
23250 and division are more mportant gm \
and useful than the long versions. (

Long multiplication of 2-digit, 258 division of 3-digit and 4-digit numbers by two—digit numbers.
3-cigit and 4-digif numbers « 16 | Long o o V4
by 2-digit numbers. 2580 | 20045041 |15 \
! ?wﬂ 15(3765 |30 (
4128 ' 3000 |45 /
| 765 |60 N
Short multiplication of decimal numbers using x 100 and = 100, 750 |75 P4
eg 1372 x 6 as 1372 x 6 100 15 |90 “
Short multipication of moneay, £23 .67 (
eg £13.72x 6 0or £23.67 x 3. X 3 P
122 \
_E71.01 NB: Grid multiplication provide: a p
Grid multiplication of numbers with up to 2 decimal places | default method for ALL children. N
Muttiplying proper and improper fractions, e.g. 3 x %. | \
. wo | o | s Divide fractions by whole numbers. eg % = 3 = Y. 4
2 4000 | 800 | 100 | &900 | >

& 1800 240 30 2070

- >
\



CPA examples -
Addition

Combining two
parts to make a
whole: part whole
model.

Joining two groups
and then recounting
all objects (lots of
practice making 10
and numbers
to10eg. 6 +4=
10or3+5=8)

3+4 =7

.

whole

®
& part 1 4 part
-4 -3 2 -
Py - -~ P
7 / ¢ N
i ¥ ¥ Y
1 1 1 1 1 1 L
I Ll 1 I 1 I 1 |
0 1 2 3 4 5 6 T

Starting at the
bigger number and
counting on

SRR e

smaller number 1 by 1 to find the answer.
12+5=17

. 1 & %X 1T &© 1 T & 1

10 1 12 14 18 18 20

13 15 1§ 17

Start at the larger number on the number line and count
on in ones or in one jump to find the answer.

Start with the larger number on the bead string and then count on to the

Regrouping to
make 10

CGeeeeettee v o
o - t’._)__._ -
3 +9=
|
Start with the
bigger number -
and use the 9+ 5 =l14‘

smaller number to (] (4]

Use pictures or a
number line. Regroup
or partition the smaller
number to make 10.

make 10. O R OT TR




Number Bonds
Learn number
bonds to 20 and
demonstrate
related facts.
Addition and
subtraction taught
alongside each
other as pupils
need to see the
relationship
between the facts.

10
/. 6+4=10 8 4
@ 6+4=10 (10)4+6=10
@ 48710 @y 10-4=6
10-4=6 | | 10-6=4 6+4=10
. 10-6=4 4+6=10
10-4=6
@ 10-6=4
Tens Frame Part Whole Model Bar Model
8 4 8 4 = 12 ﬂ
& & & wm A2 &

ot
Joy

4

8

This is a family of addition |
and subtraction facts.

.

8

12 = §
2 = N

Add and subtract
one digit numbers
and ftwo digit
numbers to 20,
including zero

8+1=9

Bridging 10; 6 + 6

= 12 Make 9 in one
and 3 in the other.
Take one from the 3
to make the 9 into a
ten...10+2 = 12 use
ten frames, egg
boxes and nhumber
lines o practice.
Children should
start with the
larger number and
add the smaller
number

6+6=12

Make 9 in one and 3 in the other. Take one from
the 3 to make the 9 into a ten....10+2 = 12




Using concrete and tens
pictorial
representations to
add a 2 digit
number to a1 digit
number and a 2
digit number to a - -
tens number. P "
tens
dd th
tens
1
19 0
Using concrete and '
pictorial S
representations to ;
. . ens ones
add two 2 digit
numbers. 2 ;
g Ad te
2t !
tens ones
23+ 14 Adding with renaming

U:.c[ ! to help you add

tons ones “
.

tens ones




Using concrete and
pictorial
representations to
add 3 single digit
numbers.

7+3+2 =

leads 1o 10 + 2 =

Using the bar
model to find
missing digits:

It is important for
the children to use
the bar model in
this way to
encourage the use
of it to aid problem
solving.

Helen has 14 breod-
sticks. Her friend has
17. How many do they
have altogether?

Add two three
digit numbers.

Children need to
first use equipment
to support
understanding of
place value.

Start without
renaming then
gradually  move
onto renaming.

432 + 521 =

.
I .

.~
.~
Add the hundrod
& hundreds * 5 hundred

h t o
. S ?
5 2 1

3

236 + 345 =

ll L] L] ©
’ &
-
Step 2 Add the tens.
1 ten + 3 tenz + 4 tens = 8 tens
I l W
1
2 3 6
s + 3 “ 5
I l I 5 l
Step 3 Add the hundreds
2 hundreds + 3 hundreds = 5 hundreds
h t o
1
2 3 (53
- 3 “ 5
I l I 5 8 1

236 + 345 =581




Bar Modelling

It is important for | de di | olving:
the children to use A man sold 230 balloons at a carnival in the morning. _

the bar model in this He sold another 86 balloons in the evening . How
way to encourage many balloons did he sell in all?
the use of it to aid Maming Afterncon

problem solving.

Adding numbers with| 2 s 1 &

up to 4 digits. r4 240
Again this should 6 5 5 4
start with the
children using mpt  Oedve g
S0MNes * ONes = s onNes
equipment to support _——
tep Add the tens
and IOTS of 1tens * & tens = 5 tens
discussion about the Skl Addthe hundrece
values of digits. 3 hundreds * 2 hundreds = 5 hundreds
Step 4 Add the thousands
2 thousands + 4 thousands = 6 thousands
2314 « 4240 = 6554
rep 2 Add the tera 7 tens = 3 tons " 11 towa
Renome the 11 tarw » 11
ool [ic-Tood KOMD (21 14
ol :coLioo S ETYETN [ 1]
. (1c0] 100 JETYIETS R
-~ ] 2355
10510 oS
- @@ 105(10
@
op 3 2kl
© hundre 9 Puncred
‘@ .I 3 5
- .\@ 9 1 1
@ Sp 4 ASS B Praords
S0 ® 00
J | G e/ O C
ool [ :coli00 2
g@ e 1
USIHg the bar model This is not a form of getting the correct answer but helping to guide children to the

to find missing digi‘l's, correct operation,

Alison jogs 6 860 metres ond Calvin
Jogs 5,470 metres. How far do they
Jea aitegether?

8860m £470m




Adding numbers with
more than 4 digits
including decimals.

Using place value
charts and place value]
counters is key when
understanding adding
decimals.

£ S
- 5
B |

W Th Ao

311959
7i: 155
|« 1l
23481
| 362
2/.2'43

+

-wlow o

0 |
"6 5
YIS

7359

Using the bar model
to find missing digits.

This is not a form of getting the correct answer but helping to guide
children to the correct operation.

MacDoralds sold £9957.68 worth of 2
hemburgers and £12385 werth of :

chicken nuggets. How much money cid BSOSOy,
they take citogethes? €957 £12385

Adding several
numbers with up to
3 decimal places.

Adding seweral numbers with dif ferent numbers of

23-36 l dezimal places (including money and measures)
S a z g %8 . Tenths, hundredths and thousandths should
+ | - 3 OO0 be correctly aligned, with the decimal point
q 3 BTIN /\ lined up vertically including in the answer row.
< 1 2 \
'/Eno'y decendl paces should \~
( be filled with zero to show >
7

— "

CPA examples -
Subtraction

Taking away should
begin with physical
objects: counters,
cubes, Dienes etc

Subtraction by
counting back

s

teps f 15
Subtract by Counting Back e

Subtract 3 from 15 -

, > x > g
. BARARAN

[(EIslwls]

There are 12 flowers left - "

15-3=12




Subtracting a
single digit number
from a single digit
number and a single
digit from a fwo
digit by crossing
out pictures

Subtract by Crossing Out

apaan W N

7-2=5
5 ladybirds are left

Subtracting using
the part part whole
model (include
problem solving with
missing dig-

its).? -5=2

How many b:t;!s ‘

are not re
Addd Ab 6 4
A\

7-5=2 5 2 ' '
2 boats are not red

|
| o

When subtracting
using Dienes
children should be
taught to regroup
(rename) a ten rod
for 10 ones and then
subtract from those

' ' - )
v:‘ v v
-

20-4=16

Subtracting
Multiples of 10.

Using the
vocabulary of 1 ten,
two tens, etc,
alongside 10,
20,30is

important

40=60-20 F 38-10=28

- 3
\I I

“~

Using concrete and
pictorial
representations to
subtract a 1 digit
number from a 2
digit number

tens ones

L B O ol

. ' 4

tens ones

L Sl O B




Using concrete and
pictorial
representations to
subtract a 2 digit
number from a tens
number

tens

ones

Lol S O

tens

ones

Using concrete and
pictorial
representations to
subtract a 2 digit
number from a 2
digit number

.

Use l to help you subtract.

tens ones

tens ones

Recognise and use

the inverse ’) 76 .
relationship between ) Use this to check
addition and caleulations and solve missing
subtraction.
number problems.
>3 | 53 23 > P
Bar Modelling
It is important for 315 315 —185 = ?
the children to use )
the bar model in this 185 185 +? =315
way to encourage
the use of it to aid
problem solving.
? 185 + 315 ="
185 315 ?-185=315




Subtract up to 3
digits  from 3
digits.

Children need to
first use equipment
to support
understanding of
place value.

Only when
children are
secure with
method should
exchanging be
introduced.

I

(il

38 L

A

400 110

10

il




Using the bar model

to find missing digits.

There are 3, 980 bocksin & shop, 1. 228 arein English and
the rest ane in French. Hewmany French books are

these ?
3150
g s 7
Subtract with s 43
numbers up to four : = I
digits, including i =
e Subtroct the ones
exchanging. G o i

Step 2 Subtroct the tens

3 tens =~ 1 ten = 2 tens

Step 3 Subtroct the hundreds

& hundreds - 0 hundreds = & sundrods

Step 4 thousands
3 th 2 thousand h ']
SO|@P[ww e s
soael i 10 10
S 10 10 a
10 10 7
soloo[sl@e !l
\_:\(; 10 10 oo 8 2 & 0
& 10 10 OO 5 16 9
10 (10 oo
00
< I
~—

Mo £

2/A'5
| S 6
L1119

CPA examples - Multiplication

Counting in Multiples
of 2,5 and 10 from
zero.

Children should
count the number of
groups on their
fingers as they are
skip counting.

COBONC,

4 groupsof2=8
4x2=8

' .

2x4=8




When moving to
pictorial/written
calculations the

language is
important
This image represents two
groups of 4 or 4 twice
Solving
Multiplication

Problems using
repeated addition

eee

B S + 3

@@@@

How marny apoles wo
thes shogete?

3+3+3=9

Skip counting in
multiples of 2, 3,
5 and 10 from
zero.

dd 4 2

X X X X RN
44 04 04 84 24 b2

B 8 10 12 14 13

® i Tm

®
a4 22

20 A L8 51




Recall and reuse

multiplication facts L
for the 2, 5 and 10 -
times tables. |___

Use multiplication
sign (X) and equals

sign (=) when o
writing out _.'5"
multiplication \

tables.

Understand that
multiplication is
commutative

Pupils should i
understand that an
array can represent
different equations
and that as cenee
multiplication is srnee
commutative the
order doesn't affect
the answer.




Solve
multiplication
problems using
arrays and
repeated addition.

Children should be
able to recall the 2,
5,10,3,4

and 8 multiplication
tables.

Multiply a 2 digit
number by a 1 digit
number.

There are 4 groups of 23 fish
How do we multiply 23 by 4?

7 v~ in
" | In
o Ny |
i |
’
-
-
4 ones x 3= 12 ones
12 ones =1ten 2 ones
" - .
.~ o O - .~
.~ A .
. T
O .
Ztens =4 = 8 tons
’ -
. A .~
.~ - .‘/ » -
L L "
L -
5
12 480~92
23 x4 =92

There are 92 fish in 4 tanks,

L
o __J
o
Stepl  Multiply the ones by 4
t o
@
- x 4
A
4 |\
Step2 Multiply the tans by &

N

o e

Qruleatv O

3 Add the products

N|ON]&Ww O




Children know all 314

times tables up to 12 x 3
x 12, -
12 (3x4)
Children use
expanded column 30 (3x10)
multiplication + 900 (3 x300)
942

@@ 10 10 10 10
@@ 10 10 10

@@ 10 10 10 10
D |10 10 10

(@]

0000
Q;

Multiply using the bar
model A computer costs 5 times as much as a television.

The television costs £42.

Cordl of the
How much does the computer cost?  sompuie

Pupils should be
TaEgh‘r to divide by 10+2=5
working practically
and the sharing

should be shown ° There are 8 cans.
below the whole to

familiarise children
with the concept of e -
the whole. @ ; "
’ S

There are 4 boxes of 2 cans.




Solve division
problems in context
by using concrete
objects by sharing.

There are 18 sausages

equally on 2 plates

S D

There are 9 sausages on each plate

Put 18 sausages l 2=9=18

18+2=9

Solve division
problems in
context using
arrays.

Solve division using
grouping.

Put 10 buns in groups of 2
How many plates are there?

A/ A A/
////J///J// oY
L L (& /C//

Put into groups of 5

There are

Use the inverse
This should be
taught alongside
both multiplication
and division.

Make a ‘om ily of multiplication and division facts.

2x10=20

20 10 =

10x2=20 20:2=§




Dividing and

Start with using the real objects-or objects that represent the calculation.

grouping
understanding the B AL AL AL AL A A A A
concept of
remainders. r s Y -+ | &
® W[ | | [ | [
13 + 4 = 3 Remainder 1
Dividing using

short division

Once the children
are secure with
division as grouping
and can demonstrate
this on humber lines,
arrays etc. short
division should be
introduced for
dividing larger 2
digit numbers.
Initially with
carefully chosen
calculations
requiring no
remainders.
Compare the layout
of short division and
that of an array.

T U

2 3

3| 6 9
i oo

99 0t

.. “;-0

Remind children of correct place value, that 69 is equal to 60 and 9,
but in short division, pose:

- How many 3's in 62 = 2, and record it above the é tens.
- How many 3's in 92 = 3, and record it above the 9 ones.

Once children demonstrate a full understanding of remainders, and also
the short division method taught, they can be taught how to use the
method when remainders occur within the calculation (e.g. 72+3), and be
taught to ‘carry’ the remainder onto the next digit.

© ® o

$
% (0¥
g
.C

S o

e
%

Bar Modelling

It is important for
the children to use
the bar model in this
way o encourage
the use of it fo aid
problem solving.

Four children bought a present for
£28. They shared the costs equally.
How much did each child pay?

28

Cost of the
present

part




Dividing 3 digit
numbers by a 1 digit
number using short
division.

Using the bar
model to support
division

Frank has 4920 apples. He needs fo put them into
baskets of 40. How many baskets does he need?

Long division to
divide by 2 digit
number.

Try this equation; 848 = 16

Approximation 800 = 16 = |[50 @ Division
ey = =l 564 + 13
” % i ‘z e ¢ 43.38 ’ e
'8 0 s 13[5 674.7070 oy T
4 8 2o b &
-4 8 === 564+13 B
=== O — =43 r5=4315—3 =43.4 (to 1dp)




